Independent School District No. 2168



High School 306 Ash Ave. South New Richland, MN 56072 (507)465-3205 Fax (507)465-8633 Elementary School 600 School St. Ellendale, MN 56026 (507)684-3181 Fax (507)684-2108

## Elementary Principal's Board Report November 2019 NRHEG Elementary School

1. Elementary School Enrollment In/Out Report (11-12-19)

Section	Enrollment	# of Sections	Students/Sect.
ECSE	12	2	
Bridges	15	1	15
K	56	3	18.66
1	62	3	20.66
2	55	3	18.33
3	61	3	20.33
4	64	3	21.30
5	58	3	19.33
Total	383 K-5 (371)	19	19.52

### 2. Leadership Team Meeting Summary

Elementary Leadership Team Meeting Monday, November 4, 2019 3:15 p.m./Elementary Conference Room

Team Members: Brenda Dobberstein, Dena Summer, Diana Foster, Jessica Williams, Sara Ihrke,
Terri Engel, Morgan Clark, and Doug Anderson

### 1. Committee Updates-Committee Members

Literacy Team Sub-Committee Update-Diana/Jessica/Terri Math Team Sub-Committee Updates-Sara/Terri Behavior-Classroom Management SEL Sub-Committee Updates-Dena & Team

Independent School District No. 2168



High School 306 Ash Ave. South New Richland, MN 56072 (507)465-3205 Fax (507)465-8633 Elementary School 600 School St. Ellendale, MN 56026 (507)684-3181 Fax (507)684-2108

### 2. November 8 Behavioral Analyst Communication-Discussion

- -Communication
- -Response
- -Future Planning-Communication

### 3. Instructional Coaching Revised Schedule

Instructional Coaching Schedule 2019-2020 Kelsey Routh

Date	Time	Support
September 24	8:00-3:00	New Staff
September 25	8:00-3:00	New Staff
October 8	8:00-3:00	New Staff
October 9	8:00-3:00	New Staff
October 29	8:00-3:00	BR/KDG
October 30	8:00-11:00	BR/KDG
November 12	8:00-3:00	Grade 4
November 13	8:00-3:00	Grade 4
December 10	8:00-3:00	Grade 1
December 11	8:00-3:00	Grade 1
January 14	8:00-3:00	Grade 5
January 15	7:30-10:30	Grade 5
February 11	8:00-3:00	Grade 2
February 12	8:00-3:00	Grade 2
March 3	8:00-3:00	Grade 3
March 4	1:00-4:00	Grade 3

### 4. SEL Framework-Support

- a. Survey Result Compilation
- b. Next Steps
- c. January 15 Training Session



Independent School District No. 2168

High School 306 Ash Ave. South New Richland, MN 56072 (507)465-3205 Fax (507)465-8633 Elementary School 600 School St. Ellendale, MN 56026 (507)684-3181 Fax (507)684-2108

- 5. Data Meeting Review/Schedule-Updates (Week of November 25) \*Recent Running Records of Students Currently in an Intervention.
  - a. Grade 5 11-18-2019 3:15 p.m.
  - b. Grade 4 11-20-2019 3:15 p.m.
  - c. Grade 3 11-25-2019 3:15 p.m.
  - d. Grade 2 11-26-2019 3:15 p.m.
  - e. Grade 1 12-03-2019 3:15 p.m.
  - f. Grade K 12-03-2019 12:00-3:00 p.m.
- 6. Team Member Additions/Items for Discussion
  - a. Math Curriculum Search Update-Director of Curriculum and Instruction
  - 3. The elementary math committee met to begin the process of reviewing textbooks-materials for the expected adoption of a new math curriculum beginning with the 2020-2021 school year. Some classrooms are currently using materials from the programs that we are reviewing. Likely, the choices will be narrowed to two or three and we will schedule program presentations before making a final selection.
  - 4. The NRHEG Elementary PTO sponsored Cookie Dough Pick Up will take place on Tuesday, November 26, from 3:00-6:00 p.m. in the south gym.
  - 5. Mrs. Fredrickson has nominated the following students as Music of the Month students for the month of October. They include:

Grade 1: Vivienne Schlaak and Jacob Lewer

Grade 2: Camellia Lynne

Grade 3: Hailey Staska

Grade 4: Tru Thao Grade 5: Anika Ladlie

6. Parent-Teacher Conferences will be held at the elementary on Tuesday and Thursday evenings, November 19 and 21 from 4:00-8:00 p.m. Court Sports will also be present with many of their NRHEG Panther clothing and accessory items. They will be available from 4:00-8:00 p.m.

Independent School District No. 2168

High School 306 Ash Ave. South New Richland, MN 56072 (507)465-3205 Fax (507)465-8633 Elementary School 600 School St. Ellendale, MN 56026 (507)684-3181 Fax (507)684-2108

- 7. On Monday, November 4, Dave Bunn and I had the opportunity to attend a training for the ALICE (Alert, Lockdown, Inform, Counter, Evacuate) program at JWP schools. ALICE Training Programs & Services increase your student and employee odds of survival during a violent intruder event. ALICE Training goes beyond lockdown methods by providing individuals with a new set of skills that will greatly increase their odds of survival during an active shooter situation. The Risk Assessments ensure your organization's response preparedness during and after an active shooter event.
- 8. On Thursday, November 7, District Staff participated in an 8-hour training related to cultural competency. Three individuals from PELSB Organization, connected to MDE (the Professional Educator Licensing and Standards Board) were present, working with our staff. This training promoted self-reflection and discussion on several diverse topics. The program has been designed to deepen teacher's understanding of their own frames of reference, the potential bias in their frames, and in our school communities.
- 9. On Friday, November 8 twenty-two teachers from the elementary met with Behavioral Analysts Barbara Carlson Litscher and Shari Brenner from the Southwest Metro Independent School District. Their presentation focused on Working With Children That Display Challenging Behaviors. Their message included:
  - What is Applied Behavior Analysis?
  - Why do kids demonstrate challenging behaviors?
  - What are the Antecedents and Consequences that modify a behavior?
  - How do I prevent challenging behavior from occurring?
  - How do I respond to challenging behavior?
- 10. Upcoming Events:

Monday, November 18

Grade 5 Data Meeting-3:15 p.m.-Conference Room

**Tuesday, November 19** 

Parent-Teacher Conferences-4:00-8:00 p.m.

NRHEG SEAC Fall Meeting-5:00 p.m.

Dale N. Carlson, Superintendent



Independent School District No. 2168

High School 306 Ash Ave. South New Richland, MN 56072 (507)465-3205 Fax (507)465-8633 Elementary School 600 School St. Ellendale, MN 56026 (507)684-3181 Fax (507)684-2108

### Wednesday, November 20

Grade 4 Data Meeting-3:15 p.m.-Conference Room

#### **Thursday, November 21**

Parent-Teacher Conferences-4:00-8:00 p.m.

S.A.T. Meeting-Postponed

## **Monday-Tuesday November 25-26**

Indoor Marching Concert-Secondary School-7:00 p.m.

#### Monday, November 25

Indoor Marching Band Concert Preview 1:00 p.m.

Grade 3 Data Meeting-3:15 p.m.-Conference Room

### **Tuesday, November 26**

Student Council Service Day 9:00 a.m.-12:00 p.m.

Grade 2 Data Meeting-3:15 p.m.-Conference Room

Cookie Dough Pick Up-3:00-6:00 p.m.-South Gym

#### **Thursday-Friday November 28-29**

Thanksgiving Break-No School

### Monday, December 2

Grades B-2 Holiday Concert-7:00 p.m.